
Unit - Unit - 9
AVOID REPETITION

c. Paragraph B.  Repetitions have been avoided

D Passage 2

Moina and Debi are students of class IX. They are great friends although they don’t 

study at the same school. Neither has ever played any cricket but both are crazy 

about it especially one day matches. So far the two have watched ten matches 

together, all involving India. Surprisingly, India has lost none of them. Four of these 

matches were played in different foreign countries and the others in India. Either 

girl claims that she is more passionate about the game than the other.

E Ratna and Rajshree are two sisters. The former, the older teaches English in a college 

whereas the latter, the younger works in a bank. Both wear their hair long while the 

elder likes eating ice cream, the younger likes eating pastries. Neither is interested 

in sports. Rajshree is married to Uttam, an engineer, while Ratna is married to Sujit, 

a businessman. Both are blessed with a son and daughter each.

F Repetition in this passage serves the purpose of highlighting and underscoring the 

drudgery of chores. Definitely, repetition here conveys the writer’s opinion 

powerfully. 

G. 1. Food, work …….. Scarcity due to war.

2. Their payment refers to payment for food.

3. Lucia’s brothers

4. How they get the money – Lucia’s brothers

5. Work

6. I – The nurse               She – Lucia

G2. a) 1. The commissioner of police = Guest of Honour

2. The former = The Deputy Commissioner 

3. The latter = Commissioner of Police 

b) They are used only in formal, written communication

c. 1. Anand’s father and Joel’s father are teachers of Maths and History 

respectively. It is interesting to note that while the former student likes 

History, the latter likes maths.
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2. Seema and Ramesh, monitors of class IXand X respectively were asked to 

meet the principal.

G4. 1. Flendian Whalers killed more minkes in 2010 than they did in 2000.

2. The fishermen were condemned for catching so many small fish. They did so 

to earn a living.

3. The light racquet was ineffective but the heavy one was difficult to handle.

4. The rains are very unpredictable in shillong so we were advised to come 

prepared for any conditions.

5. Mr.Chopra entertained the guest very well. So did Mrs.Chopra.

6. It’s one of the two umbrellas we bought yesterday . Didn’t you see it in the 

lobby?

7. I hope you would not.

G5. 1. didn’t = find out who had stolen her purse.

2. Indu’s = book

3. The day after = tomorrow

4. Another four/ another= grams

5. was = earning

6. Do = need coaching

7. needn’t = tell what you know

To = tell

8. to= visit the doctor regularly.

G6. Mitali: Did  you buy the dress you had seen in the shop?

Chetali: No, I didn’t

Mitali: But why? You liked it, didn’t you?

Chetali: I had second thoughts about it. Well, I thought I would wear one of yours 

instead. You have so many of them in your wardrobe.

Mitali: I have but mine are all designers dresses unlike the cheap stuff you wear and 

I am not going to let you touch any of them. Do you understand?

Chetali: That’s not fair!

Mitali: It is. Everyone should wear their own dresses. So you’d better go and buy 

that dress before someone else does.
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A B

Substitution word What does it refer to?

1. Both Ajay and Sahir are good players Either would be suitable as a captain

2. Thousands of baby turtles set out on long journey Few reach their destination

3. Some like to eat fish raw Others prefer it cooked

4. No one knows who did it. It could be anyone

5. Not many people get to university. Those who do not have to study hard.

b)

1.  either Ajay / Sahir

2.   Few Baby Turtles

3.   it Fish

4.  who anyone

5.  do go to the university
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